
 

38190 Commercial Ct, Slidell, LA 70458 USA | (985) 847-1104 | www.outlandtech.com              Doc #: 48-0004.docx Rev A3 

 

ROV-500 Spares Add-On List 
 Specify a quantity for the item you want to add to the spares kit. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

(*) Already Included in the standard spares kit. Reference spares kit for quantities. 
(+) Recommended for overseas purchases. 

Part # Model # Description Quantity  

01-0120 BTL-500 ROV-500 Electronics Bottle  + 

01-0108 THR-200 Thruster Assembly with Splice and Connector  * 

01-0110 NA Lights with Splice and Connector  + 

01-0198 MP-050 Single Function Manipulator  + 

01-0010 HC-100 ROV Hand Controller  + 

03-0087 
LH Prop 

NA T200 Thruster Prop, Left Hand  * 

03-0087 
RH Prop 

NA T200 Thruster Prop, Right Hand  * 

03-0173 NA BR Silicone Grease  * 

12-0637 NA RHMS 10-32 X 1 1/2, FT, Alum  * 

12-1353 NA NYLON-INSERT LOCKNUT 10-32, Alum  * 

12-1376 NA REGULAR FLAT WASHER #4, Alum  * 

12-1379 NA REGULAR FLAT WASHER #10, Alum  * 

12-2187 NA THMS M3 X 12, FT, 18-8SS  * 

12-2257 NA Self-Retaining Washer, M3/#4, Nylon  * 

12-2278 NA Insulating Washer #4 hole, Nylon  * 

12-2281 NA PHMS M4 X 8mm, FT, Alum  * 

12-2297 NA PHMS M3 X 8mm, FT, Alum.  * 

12-2298 NA PHMS M3 X 10mm, FT, Alum.  * 

25-0034-
3407 

C-3407 ROV C-3407 Cable Assembly (Dependent)  + 

25-0074 NA 3M Straight Splice Mold Kit  * 

26-0013 NA Connector In-Line 3 Pin Female Micro Wet-Con  * 

26-0022 NA Connector In-Line 4 Pin Male Micro Wet-Con  * 

26-0041 NA Locking Sleeve MCDLS-F  * 

26-0053 NA Locking Sleeve MCDLS-M  * 

26-0058 NA Dummy Plug 8 Pin Male Micro Wet-Con  * 

26-0060 NA Dummy Plug 4 Pin Male Micro Wet-Con  * 

26-0061 NA Dummy Plug 3 Pin Male Micro Wet-Con  * 

http://www.outlandtech.com/

